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Answer EIGHT questions only. Question ONE carries 16 marks but  this is not
compulsory. All other questions carry 12 marks each.
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o “No two countries have exactly the same resources, nor indeed is any one - lé

b ' rcountry self sufficient.” In the light of this statement, explain what factors -
J Imght enicourage a particular coum:ry to'specialize?
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Give geographical reasons for the following:- »
a) - The moon Has over twice the tidal effect of the sun even though the
sun.is much bigger than the moon. ‘ ’
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A country may find it necessary to devalue or revalue its currency.
If any factor of production is employed in that use in which it has the
greatest comparative advantage or least comparative disadvantage,
output is maximized. ‘

Those crossing the IDL have to change the date forward if they are
crossing from west to east, and backward if they are crossing from
east to west. '
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Explain the following with particular reference to their effect on shipping:- 4 each
a) Cyclones :

b)- Icebergs

c) Tides
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Explain wﬁy Panama Canal has an important place' in America’s trade. 12
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Define latitude and longltude and discuss their use in marmme industry. 12
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Write short notes on the following :-
a) * Packaging

"b) Ideal harbour
¢) Conference system
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Under Carnage of Goods by sea Act, 1925 the ocean carrier has certain 12
rights and immunities. What are these liabilities which the ship owner
may contract out of under the provisions of this act?
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a) Define a Bill of exchange. : 6 each
b) What remedy is available to the holder when a Bill of Exchangc is
dxshonorcd‘? .
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) Whati is multimodal transport? ' ‘ 6 each

b) Statethe salient features of the Mulumodal Transportauon of Goods
Act !993 ' :
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. “Trade takes placer because of imbalance of demand and supply between. -~ 12
places.” Explain this statement.




